Wednesday

Solve and explain:


Gwen was making baggies of cookies with nine cookies in each bag. If she had fourteen chocolate chip cookies and fifty-eight oatmeal cookies, how many baggies could she make?










Challenge Problem:


Emma lives on an egg farm. Her dad gave her 2 chickens to raise. One chicken lays 1 egg every day. Her second chicken lays 2 eggs every day. Emma sells each egg for 5 cents. She wants to earn $1.00 to buy a glitter pen. Emma thinks she can earn the dollar in one week. Do you agree with her? Show your math thinking.
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